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001 | T & @ & 504 543 646 1,189
002 | #& X i) 685 772 809 1,581
03| F &F M fr 349 328 307 635
004 | & 5 i3] 959 1,126 1,049 2,175
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006 | £ & F M 1,336 1,609 1,499 3,108
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008 | 5 it i) 796 904 923 1,827
009 | XK & i) 550 700 693 1,393
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012 | b # i)} 887 1,085 1,264 2,349
013 | 8h H i3] 553 713 793 1,506
014 | & & i)} 864 1,034 1,060 2,094
015 | Bx AT 115 132 156 288
061 XRHE —TH 31 30 20 50
062 | XFHET_TEH 215 206 196 402
063 | X ZET=TH 2 30 53 83
064 | X ET P TH 95 101 117 218
0711 | £HAB—TH 39 28 45 73
072 | £BHAEB-TH 249 244 215 459
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081 | M BT — T B 0 0 0 0
082 W E Z— T H 32 747 90 837
083 e =TH 160 160 173 333
091 filb 3% BT — T H 73 76 94 170
092 L BT =T B 64 231 376 607
101 A E— T H 98 104 93 197
111 LTEHBE—TH 119 137 123 260
112 LTEHE_TH 84 71 60 131
113 LTEHE=TH 108 100 122 222
114 LTEHEMTH 150 137 159 296
115 LTEHATH 140 106 150 256
116 LTEHBATEH 145 127 129 256
117 LTEHETH 124 139 159 298
118 LTEH/NTH 143 156 139 295
121 EBFH—TH 73 57 73 130
122 ERBRFHI_TH 50 66 60 126
123 EBFH=TH 74 70 86 156
124 EBFHMOTH 712 70 51 121
125 EBFHEATH 89 103 94 197
126 EBFHATH 159 131 132 263
127 EBFHETH 141 90 151 241
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